

ආසන්නය

Math 3

1

$$e^{x+1} \tan y dx + \cos y dy = 0$$

$$e^{x+1} dx + \frac{\cos y}{\tan y} dy = 0$$

$$e^{x+1} dx + \cos y \frac{1}{\frac{\sin y}{\cos y}} dy = 0$$

$$e^{x+1} dx + \cos y \frac{\cos y}{\sin y} dy = 0$$

$$e^{x+1} dx + \cos^2 y \operatorname{cosec} y dy = 0$$

$$e^{x+1} dx + \left[ \frac{1}{2} (1 + \cos 2y) \right] \operatorname{cosec} y dy = 0$$

$$e^{x+1} dx + \frac{1}{2} \operatorname{cosec} y dy + \frac{1}{2} \cos 2y \operatorname{cosec} y dy = 0$$

$$\cos 2y = 1 - 2 \sin^2 y$$

$$e^{x+1} dx + \frac{1}{2} \operatorname{cosec} y dy + \frac{1}{2} [1 - 2 \sin^2 y] \frac{1}{\sin y} dy = 0$$

$$e^{x+1} dx + \frac{1}{2} \operatorname{cosec} y dy + \frac{1}{2} \left[ \frac{1}{\sin y} - \frac{2 \sin^2 y}{\sin y} \right] dy = 0$$

$$e^{x+1} d(x+1) + \frac{1}{2} \operatorname{cosec} y dy + \frac{1}{2} \operatorname{cosec} y dy - \sin y dy = 0$$

$$\int e^{x+1} d(x+1) + \int \operatorname{cosec} y dy - \int \sin y dy = 0$$

$$e^{x+1} + \ln |\operatorname{cosec} y - \cot y| + \cos y = c$$

$$\textcircled{1} \quad \left( y \cos \frac{y}{x} - 2x \sin \frac{y}{x} \right) dx + \left( y - x \cos \frac{y}{x} \right) dy = 0$$

$$\text{let } y = vx$$

$$dy = v dx + x dv$$

$$\left[ vx \cos \frac{vx}{x} - 2x \sin \frac{vx}{x} \right] dx + \left( vx - x \cos \frac{vx}{x} \right) (v dx + x dv) = 0$$

$$\left[ vx \cos v - 2x \sin v \right] dx + (vx - x \cos v)(v dx + x dv) = 0$$

$$x \left[ v \cos v - 2 \sin v \right] dx + x (v - \cos v)(v dx + x dv) = 0$$

x cancel

$$\left[ v \cos v - 2 \sin v \right] dx + (v - \cos v)v dx + (v - \cos v)x dv = 0$$

$$\left[ v \cos v - 2 \sin v + v^2 - v \cos v \right] dx + (v - \cos v)x dv = 0$$

$$\left[ v^2 - 2 \sin v \right] dx + (v - \cos v)x dv = 0$$

$$\frac{1}{x} dx + \frac{(v - \cos v)}{(v^2 - 2 \sin v)} dv = 0 \quad \text{--- (1)}$$

$$\text{let } x = vy$$

$$dx = v dy + y dv$$

$$\left( y \cos \frac{y}{vy} - 2vy \sin \frac{y}{vy} \right) (v dy + y dv) + \left( y - vy \cos \frac{y}{vy} \right) dy = 0$$

$$\left( y \cos \frac{1}{v} - 2vy \sin \frac{1}{v} \right) (v dy + y dv) + \left( y - vy \cos \frac{1}{v} \right) dy = 0$$

अब इसी को वापस मरिबेन

$$\left( \cos \frac{1}{v} - 2v \sin \frac{1}{v} \right) (v dy + y dv) + (1 - v \cos \frac{1}{v}) dy = 0$$

$$\left( \cos \frac{1}{v} - 2v \sin \frac{1}{v} \right) v dy + \left( \cos \frac{1}{v} - 2v \sin \frac{1}{v} \right) y dv + (1 - v \cos \frac{1}{v}) dy = 0$$

$$\left[ v \cos \frac{1}{v} - 2v^2 \sin \frac{1}{v} + 1 - v \cos \frac{1}{v} \right] dy + \left( \cos \frac{1}{v} - 2v \sin \frac{1}{v} \right) y dv = 0$$

$$(1 - 2v^2 \sin \frac{1}{v}) dy + \left( \cos \frac{1}{v} - 2v \sin \frac{1}{v} \right) y dv = 0$$

$$\frac{1}{y} dy + \frac{\left( \cos \frac{1}{v} - 2v \sin \frac{1}{v} \right) dv}{\left( 1 - 2v^2 \sin \frac{1}{v} \right)} = 0 \quad \text{--- (2)}$$

अब (1)

$$\begin{aligned} d\left(\frac{v^2}{2} - 2 \sin v\right) &= 2v dv - 2 \cos v dv \\ &= (2v - 2 \cos v) dv \\ &= 2(v - \cos v) dv \end{aligned}$$

$$\frac{1}{2} d\left(\frac{v^2}{2} - 2 \sin v\right) = (v - \cos v) dv \quad \text{--- (3)}$$

अब (3) से (1)

$$\frac{1}{x} dx + \frac{1}{\left(\frac{v^2}{2} - 2 \sin v\right)} \frac{1}{2} d\left(\frac{v^2}{2} - 2 \sin v\right) = 0$$

$$\int \frac{1}{x} dx + \frac{1}{2} \int \frac{1}{\left(\frac{v^2}{2} - 2 \sin v\right)} d\left(\frac{v^2}{2} - 2 \sin v\right) = 0$$

$$\ln x + \frac{1}{2} \ln (v^2 - 2 \sin v) = \ln c$$

$$\ln x + \ln (v^2 - 2 \sin v)^{\frac{1}{2}} = \ln c$$

$$\ln \left[ x (v^2 - 2 \sin v)^{\frac{1}{2}} \right] = \ln c$$

माने

$$x (v^2 - 2 \sin v)^{\frac{1}{2}} = c$$

माना  $y = vx$

$$x^2 (v^2 - 2 \sin v) = c^2 = c'$$

$$x^2 v^2 - 2x^2 \sin v = c \quad \text{--- (4)}$$

$$\text{माना } y = vx \quad \text{---}$$

$$v = \frac{y}{x} \quad \text{--- (5)}$$

$$v^2 = \frac{y^2}{x^2} \quad \text{--- (6)}$$

माना (5) (6) को (4) में

$$\cancel{x^2} \frac{y^2}{\cancel{x^2}} - 2x^2 \sin \frac{y}{x} = c$$

$$y^2 - 2x^2 \sin \frac{y}{x} = c \quad \text{--- (7)}$$

Exact

$$(3) \quad (2xy e^{x^2 y} + y^2 e^{xy^2} + 1) dx + (x^2 e^{x^2 y} + 2xy e^{xy^2} - 2y) dy = 0$$

manu wof

$$\underbrace{2xy e^{x^2 y} dx}_{(1)} + \underbrace{y^2 e^{xy^2} dx}_{(3)} + dx + \underbrace{x^2 e^{x^2 y} dy}_{(2)} + \underbrace{2xy e^{xy^2} dy}_{(4)} - 2y dy = 0$$

$$\begin{aligned} \text{wof } (1) (2) &= e^{x^2 y} d(x^2 y) = e^{x^2 y} [x^2 dy + y dx^2] \\ &= e^{x^2 y} [x^2 dy + 2yx dx] \\ &= \underbrace{x^2 e^{x^2 y} dy}_{(2)} + \underbrace{2yx e^{x^2 y} dx}_{(1)} \quad \text{--- } \end{aligned}$$

$$\begin{aligned} \text{wof } (3) (4) \quad e^{xy^2} dx y^2 &= e^{xy^2} [x dy^2 + y^2 dx] \\ &= e^{xy^2} [2yx dy + y^2 dx] \\ &= \underbrace{2yx e^{xy^2} dy}_{(4)} + \underbrace{y^2 e^{xy^2} dx}_{(3)} \end{aligned}$$

$$\int dx + \int e^{x^2 y} dx^2 y + \int e^{xy^2} dx y^2 - \int 2y dy = 0$$

$$x + e^{x^2 y} + e^{xy^2} - y^2 = C \quad \text{--- } \text{A}$$

$$x e^{x^2 y} [2xy + 2] + y e^{xy^2} (2xy + 2) = (2xy + 2)(x e^{x^2 y} + y e^{xy^2})$$

$$\begin{aligned} \frac{\partial}{\partial y} [2xy e^{x^2 y} + y^2 e^{xy^2} + 1] &= 2x \left[ y \frac{\partial}{\partial y} e^{x^2 y} + e^{x^2 y} \frac{\partial}{\partial y} (2y) \right] + \left[ y^2 \frac{\partial}{\partial y} e^{xy^2} + e^{xy^2} \frac{\partial}{\partial y} (2y) \right] + \frac{\partial}{\partial y} 1 \\ &= 2x \left[ y e^{x^2 y} x^2 + e^{x^2 y} \right] + \left[ y^2 e^{xy^2} x 2y + e^{xy^2} 2y \right] \\ &= 2xy x^2 e^{x^2 y} + 2x e^{x^2 y} + 2xy^3 e^{xy^2} + 2y e^{xy^2} \end{aligned}$$

4) 41 o'n D'n nov 24 2'1 n'n.

$$(2xy^4e^y + 2xy^3 + y)dx + (x^2y^4e^y - x^2y^2 - 3x)dy = 0$$

inon  $M(x,y)dx + N(x,y)dy = 0$

$$\begin{aligned} \frac{\partial M}{\partial y} &= \frac{\partial}{\partial y} (2xy^4e^y + 2xy^3 + y) \\ &= 2x \left( y^4 \frac{\partial e^y}{\partial y} + e^y \frac{\partial y^4}{\partial y} \right) + 2x \frac{\partial y^3}{\partial y} + \frac{\partial y}{\partial y} \\ &= 2x (y^4 e^y + e^y 4y^3) + 6xy^2 + 1 \\ &= 2xy^4e^y + 8xy^3e^y + 6xy^2 + 1 \end{aligned}$$

$$\begin{aligned} \frac{\partial N}{\partial x} &= \frac{\partial}{\partial x} (x^2y^4e^y - x^2y^2 - 3x) \\ &= 2xy^4e^y - 2xy^2 - 3 \end{aligned}$$

o'v'isli k'rack  $\frac{\partial M}{\partial y} \neq \frac{\partial N}{\partial x}$

41 o'n D'n nov 24 2'1 n'n.

$$\frac{\frac{\partial M}{\partial y} - \frac{\partial N}{\partial x}}{N(x,y)} = f(x)$$

$$\frac{(2xy^4e^y + 8xy^3e^y + 6xy^2 + 1 - 2xy^4e^y + 2xy^2 + 3)}{x^2y^4e^y - x^2y^2 - 3x}$$

$$\frac{8xy^3e^y + 8xy^2 + 4}{x^2y^4e^y - x^2y^2 - 3x}$$

$$\frac{2M - 2m}{2x \cdot 2y} = g(x, y)$$

$$M(x, y)$$

$$\frac{2x^4 y^4 - 2xy^2 - 3 - 2x^4 y^4 - 8x^4 y^3 - 6xy^2 - 1}{2x^4 y^4 + 8x^4 y^3 + 6xy^2 + 1}$$

$$- 8x^4 y^3 - 8xy^2 - 4$$

$$\frac{- 8x^4 y^3 - 8xy^2 - 4}{2x^4 y^4 + 8x^4 y^3 + 6xy^2 + 1}$$

②

उदा ④

$$y \cdot f(x, y) dx + x \cdot g(x, y) dy = 0$$

110.  $f(x, y) \neq g(x, y)$

अनिवार्य अंतर्ग्रहण.

$$\frac{1}{xy(f(x, y) - g(x, y))}$$

जानिए

$$\frac{y(2x^3 y^4 + 2xy^2 + 1)}{f(x, y)} dx + \frac{x(x^4 y^4 - xy^2 - 3)}{g(x, y)} dy = 0$$

$$\frac{1}{xy(2x^3 y^4 + 2xy^2 + 1 - x^4 y^4 + xy^2 + 3)}$$

$$\frac{1}{xy(2x^3 y^4 + 3xy^2 - x^4 y^4 + 4)}$$

$$I.F. = \frac{1}{[2x^2y^4e^y + 3x^2y^3 - xy^5e^y + 4xy]}$$

or

$$P.F. = \frac{1}{xy(f(xy) - g(xy))}$$

$$= \frac{1}{xy[2xy^3e^y + 2xy^2 + 1 - xy^4e^y + xy^2 + 3]}$$

$$= \frac{1}{yx[2xy^3e^y - xy^4e^y + 3xy^2 + 4]}$$

or P.F. given as

$$\frac{(2xy^4e^y + 2xy^3 + 4)}{yx[2xy^3e^y - xy^4e^y + 3xy^2 + 4]}$$


---



$$d(x^2 y) = x^2 dy + y dx^2 = \frac{x^2 y dy}{y} + \frac{2xy dx}{y}$$

$$d\left(\frac{x^2}{y}\right) = \frac{y dx^2 - x^2 dy}{y^2} = \frac{y 2x dx}{y^2} - \frac{x^2 dy}{y^2}$$

$$= \frac{2x dx}{y} - \frac{x^2 dy}{y^2}$$

$$d\left(\frac{x}{y^3}\right) = \frac{y^3 dx - x dy^3}{y^6} = \frac{y^3 dx}{y^6} - \frac{x dy^3}{y^6}$$

$$= \frac{1}{y^3} dx - \frac{3x dy^2}{y^6}$$

$$= \frac{1}{y^3} dx - \frac{3x dy}{y^4}$$

$$2xy^4 dx + x^2 y^4 dy$$

$$\frac{1}{y^4}$$

I.F. =  $\frac{1}{y^4}$

10)  $\frac{1}{y^4}$  9M022m

$$\frac{1}{y^4} (2xy^4 e^y + 2xy^3 + y) dx + (x^2 y^4 e^y - x^2 y^2 - 3x) dy = 0$$

$$2x e^y dx + \frac{2xy^3 dx + y dx}{y^4} + x^2 e^y dy - \frac{x^2 y^2 dy}{y^4} - \frac{3x dy}{y^4} = 0$$

$d(x^2 e^y)$

$$\frac{2x e^y dx + x^2 e^y dy}{d(x^2 e^y)} + \frac{2x dx}{y} - \frac{x^2 dy}{y^2} + \frac{1}{y^3} dx - \frac{3x dy}{y^4}$$

$$d(x^2 e^y) + d\left(\frac{x^2}{y}\right) + d\left(\frac{x}{y^3}\right) = 0$$

$$\int d(x^2 e^y) + \int d\left(\frac{x^2}{y}\right) + \int d\left(\frac{x}{y^3}\right) = \int 0$$

$$x^2 e^y + \frac{x^2}{y} + \frac{x}{y^3} = c$$

5

$$x^3 \frac{dy}{dx} + (2-3x^2)y = x^3$$

$$\frac{dy}{dx} + \frac{(2-3x^2)}{x^3} y = 1$$

$$\frac{dy}{dx} + \left( \frac{2}{x^3} - \frac{3}{x} \right) y = 1$$

$$\frac{dy}{dx} + p(x)y = q(x)$$

$$y = e^{-\int p(x) dx} \left[ \int q(x) \cdot e^{\int p(x) dx} dx + c \right]$$

$$y = e^{-\int \left( \frac{2}{x^3} - \frac{3}{x} \right) dx} \left[ \int 1 \cdot e^{\int \left( \frac{2}{x^3} - \frac{3}{x} \right) dx} dx + c \right]$$

$$y = e^{-\int \left[ 2x^{-3} dx - 3 \frac{1}{x} dx \right]} \left[ \int e^{\int \left[ 2x^{-3} dx - 3 \frac{1}{x} dx \right]} dx + c \right]$$

$$y = e^{-\left[ \frac{2x^{-2}}{-2} - 3 \ln x \right]} \left[ \int e^{\left[ \frac{2x^{-2}}{-2} - 3 \ln x \right]} dx + c \right]$$

$$y = e^{-\left[ -\frac{1}{x^2} - \ln x^3 \right]} \left[ \int e^{\left[ -x^{-2} + \ln x^3 \right]} dx + c \right]$$

$$y = e^{\left[ x^{-2} + \ln x^3 \right]} \left[ \int e^{\left[ -x^{-2} + \ln x^3 \right]} dx + c \right]$$

$$y = e^{\frac{1}{x^2}} x^3 \left[ \int e^{-\frac{1}{x^2}} x^{-3} dx + c \right]$$

$$y = e^{\frac{1}{x^2}} x^3 \left[ \int e^{-\frac{1}{x^2}} x^{-3} dx + c \right]$$

$$\begin{aligned}
 d \left( -\frac{1}{x^2} \right) &= -d \frac{1}{x^2} \\
 &= - \left[ d x^{-2} \right] \\
 &= - \left( -2 x^{-3} dx \right) \\
 &= +2 x^{-3} dx
 \end{aligned}$$

$$y = \frac{1}{e^{x^2}} x^3 \left[ \frac{1}{2} \int e^{-\frac{1}{x^2}} d \left( -\frac{1}{x^2} \right) + C \right]$$

$$y = \frac{1}{e^{x^2}} x^3 \left[ \frac{1}{2} e^{-\frac{1}{x^2}} + C \right]$$

$$y = \frac{x^3}{2} + \frac{1}{e^{x^2}} x^3 C$$

107 e 92v ap2m

$$2y = x^3 + \frac{1}{e^{x^2}} x^3 C$$

$$2y = x^3 + C x^3 e^{-\frac{1}{x^2}}$$

(i)

$$2xy' = 10x^3y^5 + y$$

$$\text{or } \frac{dy}{dx} + P(x)y = Q(x)y^n$$

$$2x \frac{dy}{dx} - y = 10x^3y^5$$

$$\frac{dy}{dx} - \frac{1}{2x}y = \frac{10x^3}{2x}y^5$$

$$\frac{dy}{dx} - \frac{1}{2x}y = 5x^2y^5 \quad \text{————— (1)}$$

$$P(x) = -\frac{1}{2x}$$

$$Q(x) = 5x^2$$

$$y^n = y^5 \quad \text{————— } n = 5$$

or (1)  $\div y^5$

$$y^{-5} \frac{dy}{dx} - \frac{1}{2x}y^{-4} = 5x^2 \quad \text{————— (2)}$$

$$\text{Let } z = y^{1-5} = y^{-4}$$

$$z = y^{-4}$$

$$\frac{dz}{dx} = -4y^{-5} dy$$

$$\frac{1}{4} \frac{dz}{dx} = y^{-5} dy \quad \text{————— (3)}$$

using (2) in (3)

$$-\frac{1}{4} \frac{dz}{dx} - \frac{1}{2x}z = 5x^2$$

-4 g r r o o n

$$\frac{dz}{dx} + \frac{z}{x} = -20x^2$$

$$\frac{dz}{dx} + P(x)z = Q(x)$$

$$P(x) = \frac{z}{x}$$

$$Q(x) = -20x^2$$

$$z = \frac{e^{-\int P(x) dx}}{e^{\int P(x) dx}} \left[ \int Q(x) e^{\int P(x) dx} dx + C \right]$$

$$z = e^{-\int \frac{z}{x} dx} \left[ \int (-20x^2) e^{\int \frac{z}{x} dx} dx + C \right]$$

Integrando

$$\int \frac{1}{x} dx = 2 \ln x = \frac{d}{dx} x^{-2} = x^{-2} = \frac{1}{x^2}$$

$$\int \frac{z}{x} dx = 2 \ln x = \frac{d}{dx} x^2 = x^2$$

$$z = \frac{1}{x^2} \left[ \int (-20x^2) \frac{1}{x^2} dx + C \right]$$

$$z = \frac{1}{x^2} \left[ -20 \int x^0 dx + C \right]$$

$$z = \frac{1}{x^2} \left[ -20 \frac{x^1}{1} + C \right] = \frac{1}{x^2} [-4x^5 + C]$$

$$z = -4 \frac{x^5}{x^2} + \frac{C}{x^2}$$

$$z = -4x^3 + Cx^{-2}$$

ou  $z = y^{-4}$

$$y^{-4} = -4x^3 + Cx^{-2} \rightarrow \frac{1}{y^4} = -4x^3 + Cx^{-2}$$

7

soln  $y = y_c + y_p$

$$(D^2 - 4D + 4)y = 10x^3 e^{2x} + 6x^2 e^{2x}$$

Ans: soln

$$m^2 - 4m + 4 = 0$$

$$(m-2)(m-2) = 0$$

$$m = 2, 2 \quad \text{--- r ---} \quad \text{--- r ---} \quad m_1 = m_2$$

$$y_c = c_1 e^{2x} + c_2 x e^{2x}$$

for  $y_p$

$$\text{or } \mathcal{L}(y) = 10x^3 e^{2x} + 6x^2 e^{2x}$$

$$y_p = A x^3 e^{2x} + B x^2 e^{2x}$$

or

$$y_p = A x^3 e^{2x} + B x^2 e^{2x}$$

or

$$y'' - 4y' + 4y = 10x^3 e^{2x} + 6x^2 e^{2x} \quad \text{--- 1 ---}$$

$$y_p = A \frac{d}{dx} (x^5 e^{2x}) + B \frac{d}{dx} (x^4 e^{2x})$$

$$y_p' = A (x^5 \cdot 2e^{2x} + 5x^4 e^{2x}) + B (x^4 \cdot 2e^{2x} + 4x^3 e^{2x})$$

$$y_p' = A (2x^5 e^{2x} + 5x^4 e^{2x}) + B (2x^4 e^{2x} + 4x^3 e^{2x})$$

$$y_p' = 2Ax^5 e^{2x} + 5Ax^4 e^{2x} + B2x^4 e^{2x} + 3Bx^3 e^{2x}$$

$$y_p' = 2Ax^5 e^{2x} + 5Ax^4 e^{2x} + 2Bx^4 e^{2x} + 3Bx^3 e^{2x}$$

$$y_p' = 2A \left[ \frac{x^5}{2x} e^{2x} + e^{2x} \frac{2x^5}{2x} \right] + 5A \left[ \frac{x^4}{2x} e^{2x} + e^{2x} \frac{2x^4}{2x} \right] + 2B \left[ \frac{x^3}{2x} e^{2x} + e^{2x} \frac{2x^3}{2x} \right]$$

$$+ 3B \left[ \frac{x^2}{2x} e^{2x} + e^{2x} \frac{2x^2}{2x} \right]$$

$$y_p'' = 2A [x^4 e^{2x} + e^{2x} 5x^4] + 5A [x^3 e^{2x} + e^{2x} 4x^3] + 2B [x^2 e^{2x} + e^{2x} 3x^2]$$

$$+ 3B [x e^{2x} + e^{2x} 2x]$$

$$y_p''' = 4A x^5 e^{2x} + 10A x^4 e^{2x} + 10A x^4 e^{2x} + 20A x^3 e^{2x} + 4B x^3 e^{2x} + 6B x^2 e^{2x}$$

$$+ 6B x^2 e^{2x} + 6B x e^{2x}$$

$$y_p'''' = 4A x^5 e^{2x} + 20A x^4 e^{2x} + 20A x^3 e^{2x} + 4B x^3 e^{2x} + 6B x^2 e^{2x} + 6B x^2 e^{2x} + 6B x e^{2x}$$

474  $y_p', y_p''$  १०) व १)

$$4A x^5 e^{2x} + 20A x^4 e^{2x} + 20A x^3 e^{2x} + 4B x^3 e^{2x} + 6B x^2 e^{2x} + 6B x^2 e^{2x} + 6B x e^{2x}$$

$$- 8A x^5 e^{2x} - 20A x^4 e^{2x} - 8B x^3 e^{2x} - 12B x^2 e^{2x} + 4A x^5 e^{2x} + 4B x^3 e^{2x}$$

$$[\cancel{4A x^5} + \cancel{20A x^4} + \cancel{20A x^3} + \cancel{4B x^3} + \cancel{6B x^2} + \cancel{6B x^2} + 6B x - \cancel{8A x^5} - \cancel{20A x^4} - \cancel{8B x^3} - \cancel{12B x^2} + \cancel{4A x^5} + \cancel{4B x^3}] e^{2x}$$

$$- \cancel{12B x^2} + \cancel{4A x^5} + \cancel{4B x^3}] e^{2x}$$

$$[20A x^3 + 6B x] e^{2x}$$

$$20A x^3 e^{2x} + 6B x e^{2x} = 10 x^3 e^{2x} + 6 x e^{2x}$$

$$20A = 10 \implies A = \frac{10}{20} = \frac{1}{2} \quad \text{--- १)}$$



$$bB = b$$

$$B = \frac{b}{b} = 1 \quad \text{--- (7)}$$

$$y_p = \frac{1}{2} x^5 e^{2x} + x^3 e^{2x}$$

$$y = y_c + y_p$$

$$y = c_1 e^{2x} + c_2 x e^{2x} + \frac{1}{2} x^5 e^{2x} + x^3 e^{2x} \quad \text{--- (8)}$$

---